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51.

Which of the following statements is a

proposition ?

(A) God bless you !

' . (B) One even prime number is 2.

S2.

33.

4.

(C) Get me a cup of tea. .

(D) What is today’s date ?

Which of the following is a mandatory step

in the principl«:: of Mathematical induction ?
A Inductive hypothesis

(B) Inducﬁ\;e reference

(C) Deductive hypothesis .

(D) Deductive reference

Let functions f anci g are one-to-one, then
function (g0 f) is :

(A) Many-to-many

(B)' Many-to-one

(C) One to many

(D) One to one

“Cancellation laws” are always satisfied in : '
(A) ring
(B) commutative ring

(C) ring with unit element

(D) integral domain

P.T.O.
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55.

56.

57.

58.

The group of matrices ™ with
determinant...................is-a subgroup of the

group of invertible matrices under

multiplication.
@y 3 - ®) 4
© 1 D 2

The maximum number of possible non-zero
values in an adjacency matrix of a simple‘
graph with » vertices is :

(B) n

D) nn+ 12

(A) n
©) nn-1)2

Which of the following is not a valid rule
of Boolean Algebra ?

(A) A+A'=A
B) A+A'=I
€ A.A=A-
D) A.A'=0

Both transportation and assignment
problems are members of a category of

linear programming problems, called :
(A) Network flow problems

(B) Routing problém

(C) Logistic problems

(D) Shipping problems

!
’
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59. Consider the following graph :

60.

Ag_

E_

Which of the following is frue with respect .

to above graph ?

(A) Hamiltonian circuit only

(B) Hamiltonian path only '

(©) Hamiltopiaﬂ path and Hamiltonian circuit

D) Neither
Hamiltonian circuit

Hamiltonian path nor

The steps for finding post-order traversal of
a binary tree are :
(A) Visit root, traverse the left subtree and

traverse the right subtree

(B) Visit root, traverse the right subtree
and traverse the: left subtree

(C) Traverse the left subtree, visit root and
traverse the right subtree

(D) Traverse the left subtree, traverse right
subtree and visit root ’

P.T.O.
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| 61

62.

63.

64.

(A)

For an n-variable Boolean function,

_ the maximum number of prime implicants

is:
(A) nf2
(C) an-1

B) 27-1

@) 27

(1217)q is equivalent to :

(A) (1217)4 (B) (028F)y,

(€) (2297)y0 D) (OB17)6

A computer has 32-bit instructions and
12-bit addresses. If there are 240 two-

address instructions, how many one-address

operations can be formulated ?
(B) 65536
(D) 131072

(A) 4096
(©) 8192

Consider the following minterm expression

" forF;

F (P, Q, R, S)—zozs 7, 8, 10
13, 15

the minterms 2, 7, 8 and 13 are ‘do not

- care’ terms: The minimal sum-of-products

form for F is:
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+PQS + PQS
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65.

66.

67.

What is the minimum number of gates -
required to implement the Boolean function
(AB + C) if we have to use only 2 input
NOR gates ?

T @A) 2

- ® 3

€ 4
® 5

If P and Q are Boolean variables, then :

P+QP.Q+P.R)P.R+Q)

simplifies to E

A Pp.
® P.
© P.Q+R

@) P.R+Q

Ol

How many 32k x 1 RAM chips ane needed -
to provide a memory capacity of 256k
bytes ?
@ 3

B) 32
(C) 64

(D 128

P.T.0.
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Which one of the following expressions
doés not represent Exclusive NOR of

xand y?
(A xy+Xxy, |
®) *®y
(© f Sy
D) x®y

Which memory is diﬁ';cult to interface: wlith
thg processor ?

(A) Static memory

(B) - Dynamic ﬁlemc;ry

(C) ROM

(D) Secondary storage

" T/O devices communicate with the processor

through a/an :

(A) Control Bus

'(B) IO Bus and System Bus

(C) /O Bus

(D) 1O Bus and 1/O Bus Controller
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7.

73.

74.

72.

Which of the following loop i§
used to ensure that the statements
within the loop are executed at least -
once ?7

(A) For loop (B) While loop-

H{O) do-while loop (D) Nextloop

The process of making an operator to -
exhibit different behaviours in different

instances is known as :
(zf&) Encapsulation
(B) Abstraction

(C) Data Hiding

- (D) Operator Overloading

A server having link with different clients
whe;e the appiications execute is known

as:

_(A) Client Server

(B) Rack Server

(C) Link Server

(D) Application Server

What is # include in C programming
language ? '
(A) Header File

(B) Identifier

(C) Preprocessor Directive

- (D) Macro -

P.T.O.



75.

76.

77.

78.

" (A) start ()

(A) - 8.8

e

9 T A ey W e e

¥, @ wn frfafes < mh fafw |
| (method) ! define F& ¥ :

®) run’()
(C) init() (D) ' runnable
e C++ TR sl WA floor
(- 8.8) Trifeifem -aeg fed M
B) - 8.0

(C) 8.0 @) -9.0

frafafen # 4 B RO W
® http ST (request) ® W T
(read) FH H TEA AW 2 2

(A) Hitp Request Serviet

(B) Http Servlet Request

(C) Http Servlet Response

(D) Servlet Http Request
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75.

76.

77.

78.

‘When we implement the runnable interface,

. we must deﬁrie the method :

(A) start'() - (B) mun()
(C) init () (D) runnable

Th;a standard C++ math library function
floor (- 8.8) will return the following values :
®) - 8.0
@) - 9.0

(A) - 838

(C) 8.0

Which of the foIldwing interface enables
servlets to read data from an Hittp

request ?

(A) Http Request Servlet
(B) Http Servlet Request
(© -I:Itlp Servlet Response

(D) Servlet Http Request

"What are the basic attributes of a straight

line segment 7

(A) Length, Width, Size
(B) Length, Width, Color
(C) Type, Width, Color

(D) None of-the above
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79.

80.

The reflection about x-axis is

‘represented by the following transformation

matrices :
-1 0 0]
@ |01
o o
@) |0 -1 0
0 0 -1}
-1 0 0
[0 -1 0
0 0 1
01 0
® (1 00
0 0 1

Which curve representation use; a
set of control points to determine the shape
of curve with the curve always
pﬁssing through the first and last control
points ? '
(A) B-spline curve -

(B) Bezier curve

(C) Spline curve '
(D) Polygonal curve

P.T.O.
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10

Which level of the three-schema architecture
describes the structure and constraints for

the wholé database ?
(A) Internal schema )
(B) Conceptual schema
(C) External schema

(D) User view

A weak entity set must be associated with
another entity set, called the..................in

order to be meaningful.

"(A) Identifying set

(B) Strong entity set
(C) Candidate set

(D) Partial entity set

When' the functional dependency rule
A—B holds and Bx—y holds,
then which rule implies that the

Ax— y holds ?

(A) Augmentation rule

" (B) Decomposition rule

(C) Transitivity rule

(D) Pseudotransitivity rule
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84.

85. '

- vector machine in data mining ?

86.

B

. D)

jGY
- (B)

The: i)urpose of an XML namespace isto:
(A) Provide a programming interface
with XML

for working

documents - )
Provide metadata ébout an. XML
doc;urnent _

(C) Avoid naming conflicts- between

elements and attributes

(D) Define the‘ structure and context of an-
XML documents .

What is the primary goal of thc sﬁppo_’rt .

(A)
B)

To represent data relationships

To predict the value of a depehdent
variable '

(C) To mta.ximize the margin between- ,

classes . .

To minimize the number of support

vectors

Document-based NOSQL database have-

the following characteristics
Stores data in a tabular format

Supports transaction and joins

(©)

data i
Stores data in nested hierarchies

D)

P.T.0.
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87. Assume X(a, b, ¢, ) and Y (5, ¢, u, V)

88,

be two relations in which a is foreigh key

of X that refers to the primary key of Y.

Which of +the following operations
causes the referential integrity constraint
violation 7

@ Insertinto X

() Insertinto Y

@) Delete from X

(iv) Delete from'Y

(A) Both (i) and (iv)

(B) Both (ii) and (iii)

(C) Al of the above

(D) None of the above

A table EMPLOYEE has 10 records. It has
a non-NULL SALARY Column which is
also UNIQUE.

If the SQL statement

SELECT COUNT (SALARY) FROM
EMPLOYEE WHERE SALARY NOT IN
(NULL) :

is executed, what will be printed as

output ?
(A) ERROR B) 9
@) 0

(€ 10
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89.
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(B} - (E.F},

(A, D)= (G H},
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# fr w R T E 2
® {A,B,D}

D) {A}

Ifz fadl Rl dTERE # 4,00.,000'
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Fre) w1 ol R €, @ A 1B
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89. Consider the

© 300k

relation - schema

"R={A,B,C,D,EFGHLJ

and the set of functional _

dependency : .

{ {AB} - {C},
(B} - (E, F},

. {A,D} > {GH),

(G} > (I}, {H} — {J} }onR.

 Which of the following is a candidate key

forR ?

&) {A, B}

®) {A,B,D} .

© {A,B.D,G H}

O (A}

. If a data warehouse contains inventory of
4,00,000 items with a bitmap index on item

colours. If there are five item colours (red,

green, blﬁe, white angi black), how much
index size storage will be required ?‘
(A) 200 k B) 250k

D) 400 k

P.T.0.
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Which is not scheduling criteria for CPU
scheduling ?

(A). Turnaround time

(B) Whaiting time

(C) Response time

(D) Remaining time

Data encryption standard work on a block

. of bits at a time, is known as

(A) Block cipher
(B) Stream cipher
(C) Data cipher

(D) Clock cipher

Which is not memory management function

of kernel ?

(A) Allocation of address spaces to the

process
(B) Buffer management
(C) Paging and Segment management

(D) Swapping
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15.

Necessary and sufficient conditions for

deadlock to occur-is/are :

@ Mutual exclusion

(i) Hold and wait

(i) No preemption

(iv) Circular wait

(A) All of the above

B) (@), (1) and (iii)

(© @ and G

@) (@) and @ii) .

In multithreaded programs, how should

asynchronc;us si@ﬂs generally be handled ?

(A)- By delivc;d{lg the signals to the default |
signal handler only |

(B) ﬁy ignoring th;a signals if the process
has multiple threads

(C) By delivering thg signal only to the
thread that caused it | |

(D) By delivering the signal to all threads

4

in the process -
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96.

97.

~

Which of the following features distinguishes
Virtual Machine (VM) for Traditional
Operating System regarding Virtual Machine
Management ? - '
(A) The ability to freeze a virtual machine

and create a snapshot of its state

(B) The capability to directly modify

hardware settings for enhanced

performance

(C) The use of complex algorithms to
improve network security within virtual
machines |

The implementation of advanced

D)

encryption methods to protect data

In a system where the operating system is
stored on disk and the bootstrap loader is
in firmware, what is the primary ro-le of the
boot block ?

(A) Load the entire operating system into

memory directly -

(B) Read a single disk block and provide
the address and length of the

remaining boot strap program
(C) Encrypt the operating system files on

disk for security

Initialize hardware devices before

©)

loading the operating system




98.

99.

100.

(D) twe WA

frg frer Wt A fow R
¥ dmem W fasfer g2

(A) TEHTTE.

(B) WLEH.GE.

(C) TEWHLH

D) THTEITE.

SR RS A F W AR A
PR B Y WA H-WAERE B OF
w8 W §?

(A) TWE EA

®) fee W=

(C) awT TEA

Tevs i gl e @ T T
% oiem e wE F T Wi
e €. T aifee & fog wHg =mE -
IOmS%_: ) :
of . faf¥ (ms)

m:
P, 10
P, .29
P, 3
P, 7
P; 12
(A) 23 ms B) 23.25 ms
(C) 2350ms - (D) 23.75ms

(8)S/22/2024/A 17

98.

In which disk scheduling policy disk request

. queue is segmented ?

99.

100.

- process under.Round Robin scheduling

(A) SCAN

(B) CSCAN

(C) FSCAN

(D) SSTF

The percentage of times that the page

number of interest is found in the translation
look-aside buffer is called :

(A) Access time

(B) Hitratio
(C) Buffer time
(D) Packet ratio

Calculate average waiting time of

" scheme if time quantum is 10 ms for given

table :
Process | Burst Time.(ms)
P, - 10
P, C29 :
P; 3
P, 7
Ps 12 |
(A) 23 ms (B) 23.25ms
©) 23:50ms (D) 23.75ms
P.T.O.
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101.

If a process is under statistical control, then
itis:

(A) Maintainable

. (B) Measurable

. (C) Verfiable

- 102.

103.

D) Predictable

Crystal methodology of agile is indexed
by .

A) Size

(B) Time
(C) Cost (D) Color
Which tool 'is used for structured
analysis ? .
®) DFD

- (C) Warrior-Orr diagram -

104.

(D) HIPO diagram

CRC stands for :

(A) Class Responsibility Collection

(B) Cu;tomcr Responsibility Collabor_ator
© C'omp.uter Responsibiiity Collection

(D) Class Responsibility Collaborator
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105.

106.

107.

When the functions of a module are
executed in the same time span, then

itis:

(A) Logical cohesion

B) Temi)_oxal cohesion

(C) Functional cohesion

(D) Procedural cohesion

Which architectural style uses one connector

and one cdmiaonent ?

N Pipe and Filter

(B) Shared data

(C) Clinet-Server

(D) Publish-Subscribe

Veriﬁcat:ion is :

(A) Are we building a right product ?

(B) Are we building the product right ?

(b) Are we following' a standard
proces.s ?

(D) Are we using standard tools ?

P.T.0.
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Year) #1 oA € ?
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(D) THELHLTE.
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108. What amount of software can be developed

in 1 year 10 months in an organization
whose technology factor'is 2400, if a total
of 25 PY (Person-Year) is permitted for

development effort ?
(A)y 28590 B) 26590

(C) 27920 D) 27290

109. Mutation testing is a :

110.

20

(A) Graph-based testing
(B) Model-based testing
(C) Code-based testing

(D) Fault-based testing'

Which is a conﬁgurati(;n management tool ? '
(A) D jango
(B) Marathon
(C)- HIPO

(D) SCCS
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111.

112,

113.

O

Given the following list of letters inserted in
order into an empty binary search tree :

LRD, GTEMHPA,FQ
What is the in-order traversal sequence of
the resulting binary search tree ?

(A) ,R,D,G T,E. M H,P,A,FQ

B) A,D,E,FFGH,J,M,P, QR T
(C) QLM T,R J,H GFED,A

O) TR QPERMIJHGFEE,D,A

Heapsort involves :
(A) Removing data from a heap and then
inserting it again

Copying data .from one heap to
another

(B)

(C)- Copying data from the array

representing a heap to the heap
‘Inserting data into a heap and then

removing it

In a weighted graph, the Minimum

Spanning Tree (MST) tries to
rimize -
(A) the number of edges from the starting-

vertex to a specified vertex

the number of edges connecting all the
vertices

(B)

the total weight of the edges from the
starting vertex to a specified vertex

(©)

(D) the total weight of the edges

connecting all the vertices

P.T.O.
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wARES Fr ® 7
@ 0V) B 0@E
(C) 0(V.E) D) 0V -FE)

. TR THYSH g+ b * ¢ ~dle * hF1
Yeffey TaauyE w1 & 2

(A) abc* +de/ h* -
B) ab+*c—delh*
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D) ab*c+dle—h*

116. FRH f‘(n)=n4+ 100 7% + 50
A afgeRfer e W@ W
. \

(A) 0o(1)

(©) . 0(:%

TG TGy

3T(n-1), 3k n>0
],

% g wheREd W@ of o2
B 0y
- (D) Onlogn) =

“®B) 0() :
®) 0

117.

T(n)= {

=

(A) 0(3")
© 0
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114. What is the running time comple);ity of
Depth-First Search (DFS) on a graph with -
V vertices and E edges ?

®B)_0 (E)

(D) 0(V +E)

(A) 0(¢V)

(C) 0 (V. E).

115.. What is the postfix notation of the infix

expreésion:.a+b*c,—d/e*h
(A) abe *+de/ h* -
-(B)' ab+*c—de/h*
(€) a+b*c—dleh*

1)) ab*c-+d/e—h*

116, What is the asymptotic upper bound for the

finction
f(n) =n +100 n2 + 50 ?
A). 0(1)
() 0t

® 0@
D 0

117. What is the time complexity of the

recurrence retation :

- T(n)={3T(n—l),._ if n>0

I,  otherwise
(A) 0(3") ®) 0
©) 0n) D) 0_(n‘ log n)

™
-l
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Frfater wRE w TEH RIS
c2 1 Sl
def ﬁJn_ctlon #)
count =
ifn<=0:
return
for { in range (0, n) :
j=1
while j<n:
j=i+i
éount = count + ]

pﬁnt (count)

function (20)
(A) 0(n?) B) 0@
(€) O(n log n) (D) Olog r)

i W @ ﬁﬂhf@a?gma’r R

Jar wifsg .

agel W wE a =3

TodE H®oww om = 20

& (P, P,, Py) = (25, 24, 15)

T (W, wy, w3) = (18, 15, 10)
Frefafed ® @ #vw <Eed waeR
afeda @ W ¥ 2 -

(A) (172,173, 1/4) B) (1, 2/15, 0)
© 0,231 © ©1L12)

mﬂﬁmﬁaﬁémﬁgﬁa

WWWWW
ﬁm%?

(A) 5
(C) %

®) fie fa=
O &

-

T 23

118

- count =

119.

120,

(C) Graph

What is the time complexity of the followmg
function ?
def function (n) :

0
ifn<=0:
retum
for i in range (0, ») :
j=1
while j <n :
AT
count = count + [
print {(count) |
function (20) _
(A) 0(?)
(C) O(nlog m)

®B) 0
) 0O(log n)

‘Consider the following instances of the

knapsack problem :

Number of items n = 3

Knai)sack capacity m = 20

Profits (P, Py, P;) = (25, 24, 15)
Weight (1, wy, wy) = (18, 15, 10),
Which of the following feasible solutions
gives the maximum profit ?

Ay (172,173, 1/4) B) (1, 2/15, 0)
© 0,23, 1 D) O, 1,1/2)
What is the most appropriate data structure

to print elements of a queue in reverse
order ?

(A) Stack " (B) Lifiked list
. (D) Tree

P.T.O."
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121.

122.

123.

Languages that can be accepted by Finite
Automata (FA) can be represented by

formulas called :

(A) Chorr.lsky Expression
B) Turin'g_Ex‘pression

(C) Non-regular Expression

(D) Regular Expression

Eve;y Recursive Language is :

(A) Non-Computable

(B) Undecidable

(C) Recursively Enumerable

(D) Type-3 Language

Detex:ministic and Non-determin.istic‘
Pushdown automata :

(A) are equivalent

(B) are not equivalent

(C) cannot accept regular language

(D) have finite memory

»e
-)
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.In a

124. In analysis part of a compiler-information -

about the source program is collected and

stored in a data structure which is :

(A) Syntax Table

(B) Information Table

(C) Symbol Table

© (D) Variable Table

. The syntax of programming langpége,

constructs can be specified by which

notation ?
(A) Turing-Church’s form
(B) Griebach-Normal form

©) Chomsky—Normal form

- (D) Backus-Naur form

program, each time, a

procedure is called, local variables are

stored in a :

(A) Heap storage
(B) Stack storage

(C) Activation Tree storage

(D) Queugc storage

’

-t
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127.

128.

To build a suit of compilers,

which approach can be used to save

~ effort 7,

(A) Syntax Directed Translation

(B) Intermediate Representation

(C) Lexical Analysis

(D) Parallel code optimization

‘The K is LR(K) Gramfnar refers to :

(A) The number of symbol of lookahead

on the input

- (B) The number of production

129,

130.

(C) Number of Levels in Parse Trée

(D) Number of Null-Productions

A language processor that can usually give
better error diagnostics than a compiler is :

(A) Interpreter
(B) Byte Code
(Cy Assembler -

(D) Pre-processor

The set of all strings obtained by
concatenating zero or more strings from a

Language is called :

(A) Conjunctive normal
(B) Griebach normal star
(C) Superset star

(D) Kleene star
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131. Ifl._ OSI model, routing of the pack'ets to

-

their ~final destination is done

(B) Datalink

-(CS Network

D) Transp,oﬁ :

osnis a measure of the probability
of errors remaining in a network despite the

use of an error detecting scheme.

.(A) . Bit error rate

- (B) Residual error rate

(C) Symbol error rate

D) Attenuation error rate

. The number of phyﬁcal links in a fully

. .connected mesh network with #nodes in

R L —

@) .(n+1) (B)‘ n(n +1‘)/2'

©) nn-2  © nr- 1)
P.T.O.
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134.

135.

136.

137.

Port address used in an Internet

employing TCP/IP protocol is comprised

®) 16
D) 128

The number of bit positions in which two

codewords differ is called the .......... .
(A) Euclidean distance

(B) Cosine distmld_ce

(C) Hamming distance

(D) Manhattan distance

The technique of temporarily delaying
outgoing acknowledgements so that they can
be hooked onto the next outgoing data

frame is called......ooovveernnnn, }

(A) Pipelining = (B) Piggybacking
(C) Paging. (D) Sliding Window

Which protocol is used to find the Logical

.address for a network machine from its

Physical address ?

,(Aj Message Control Protocol

(B) Address Resolution Protocol
(C) Forward Address Resolution Protocol

(D) Reverse Address Resolution Protacol
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140.
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(A 64

]

T % F9 R TEE WM R AR

(C) 256 -

| o
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® e
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(B) ®THZE

(C) Terew

138. Domain name space represented as a

139.

140.

inverted hierarchical tree structure can.have

a maximum Of v erireseeennnlEVELS,

(A) 64 B) 128

(C) 256 (D) 512

Which of the following cloud services is an

example of IaaS ?

(A) Google Drive,

(B) Salesforce
(C) AmazonS83 -

(D) Microsoft Office 365

In CDMA, . each bit time’ is'

subdivided into m short intervals

T Called.unerresnreseessisseenss :

29

(A) Segments

(B) Fragments

(C) Chips ._ |
(D) Chunks

P.T.O.



" "

141. STCHI-EieT AT @) TR fiysfy
w2 W ww § Ref 3 S
W ® 2 _
(A) eTcafyen (B) w4t =

(©) = ©) T

142, Loves (TH, ¥wU®) V Loves (3,
ﬁﬁ) ....... TH ﬁl’ , R T
21
(A) aqu ®) T

(C) srHgw (D) Y&R Wiy

143. 9wt fHaism TRIYH STTEY Goereeerreons
® TG T G F T

2
(A @8,
®) |8,
(C) 3m,
(D) =,

R

144, Tl ST T @ TR @
B S ST Y
g '
(A) FEAfT=T"

(B) IMfwE
(C) sriyf ,
D) WeF @ e

{8)5/22/2024/A 30

141.

The effectiveness of alpha-beta prunning

1Siereeeenrenns, dependent on the order in which

" the states are examined.

142.

143,

(A) highly B) never
(C) minimum D) always

Loves (Ram, Shyam) ¥ Loves (Ram,
Mohan) expressing.................. knowledge
representation.

(A) Incomplete (B) Complete
(C) Disjoint ©) Type restriction

Regressive planning Works ..................... from
the goal rather’ﬂlan ............... from the initial’
state. '

' (A) Backward, Backward .

(B) Forward, -Backward

(C) Forward, Forward

144,

(D) Backward, Forward

Inflectional morphology eXpreses.........

relations between words of the same part

" of speech.

(A) Syntactic
(B) . Lexical

(C) Semantic

(D) Semantic and Lexical
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145,

146.

147,

Which of the ft_)llowing is correct ?
(A) Retrieval = Indexing + Rank Precision
(B) Search= Retrieval + Indexing
(C) 'Indexing = Search + Rank 'Precision

(D) Retrieval = Indexing + Search

In Hopefield Network, the asynchronous

. updating of the units allows a function

known as :

(A) Lyapunov function

(B) Delayed furiction

(C) Gamma function

(D) Exponential function

In the reference to Death penalty in Genetic
algorithm, the following is not correct : |
(A) It handles constraints

(B) It can be applied for both single.

and multi-objective constraints

problems
©
)

Generates feasible solutions

The mutation rates may increase

P.T.O.
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148. A straight forward approach of maintaining

149.

- ®

150.

a uniform spread of solution in objectives

space is known as...................

(A) Rake'selection

'(B) Feasible selection

(C) Infeasible selection

(D) Bounded selection

In the context of LRTA*, a real time
heuristic search algorithn the following is
correct :

(A)

The h-values always decreases

The Ah-values never increases

The h-values sometimes decreases
and sometimes increases

(©

The "h-values never decreases and

D)

remains admissible

Which of the following is not correct in the

context of an inner product ?

(A) It must satisfy Symmetry

(B) It must satisfy Bilinearity

(C) An iﬁner product space is not a
Pre-Hilbert space ' | .

(D) A Hilbert space is a comp_olete inner

product space
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